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Addition two/three numbers up to 10000 #5

4185 + 5874 =

849 + 2569 =

6238 + 8908 =

3550 + 6687 =

1178 4 2273 =

3530 + 2717 + 2727 =
5138 + 3258 =

6278 4 4895 =

2387 + 4322 =

1081 + 5078 4- 5822 =
1876 + 5173 =

933 4+ 4197 =

8995 + 6862 =

7419 + 765 =

8396 + 5812 + 8596 =
7983 4 1770 =

3415 + 5582 + 8403 =
4516 + 8931 + 1508 =
2907 4 1281 4 2439 =
795 + 1326 4 9841 =
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Addition two/three numbers up to 10000 #5 (Solutions)

4185 + 5874 = 10059

849 + 2569 = 3418

6238 + 8908 = 15146

3550 + 6687 = 10237

1178 4- 2273 = 3451

3530 + 2717 + 2727 = 8974
5138 + 3258 = 8396

6278 + 4895 = 11173

2387 + 4322 = 6709

1081 + 5078 + 5822 = 11981
7876 + 5173 = 13049

933 4+ 4197 = 5130

8995 + 6862 = 15857

7419 + 765 = 8184

8396 + 5812 + 8596 = 22804
7583 + 1770 = 9353

3415 + 5582 + 8403 = 17400
4516 + 8931 + 1508 = 14955
2907 + 1281 + 2439 = 6627
795 4 1326 + 9841 = 11962



